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¯K �½ a1, a2, · · · , an ∈ R+(n ≥ 2), y²:
n∑

i=1

max{a1, a2, · · · , ai}min{ai, ai+1, · · · , an} ≤
n

2
√
n− 1

n∑
i=1

a2i . (1)

y² ò¤k÷v max{a1, a2, · · · , ai−1} 6= max{a1, a2, · · · , ai} � i l��

�ü�� r1, r2, · · · , rk, Ö¿½Â rk+1 = n + 1, Kk a1 = ar1 ≤ ar2 ≤ · · · ≤ ark

� ari = max{a1, a2, · · · , ari+1−1}. �Äd½Â·��� ri+1 − ri 6= 0, �éu

1 ≤ i ≤ k, ·��±½Â

ti =

ri+1−1∑
j=ri

min{aj, aj+1, · · · , an}

ri+1 − ri
.

éu ri+1 6= ri + 1, ·�k

min{ari , ari+1
, · · · , an} ≤ min{ari , ari+1

, · · · , arr+1−1} ≤ ti,

�d Cauchy-Schwarz Ø�ª,
ri+1−1∑
j=ri+1

a2j ≥
((ri+1 − ri)ti −min{ari , ari+1

, · · · , an})2

(ri+1 − ri − 1)
≥ (ri+1 − ri − 1)t2i . (2)

éu ri+1 = ri + 1, d

ari ≥

ri+1−1∑
j=ri

min{aj, aj+1, · · · , an}

ri+1 − ri
= ti
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n

2
√
n− 1

ri+1−1∑
j=ri

a2j − ari(ri+1 − ri)ti =
n

2
√
n− 1

a2ri − ariti ≥ 0. (3)

l
(Ü (2) ªÚ (3) ª, ·�k

n

2
√
n− 1

n∑
i=1

a2i −
n∑

i=1

max{a1, a2, · · · , ai}min{ai, ai+1, · · · , an}

=
n

2
√
n− 1

(
k∑

i=1

a2ri +
k∑

i=1

ri+1−1∑
j=ri+1

a2j)−
k∑

i=1

ari(ri+1 − ri)ti

≥
k∑

i=1,ri+16=ri+1

(
n

2
√
n− 1

(a2ri + (ri+1 − ri − 1)t2i )− ari(ri+1 − ri)ti)

≥
k∑

i=1,ri+16=ri+1

(
n

2
√
n− 1

(a2ri + (ri+1 − ri − 1)(ti −
√
n− 1

n

ri+1 − ri
ri+1 − ri − 1

ari)
2)

−
√
n− 1

2n

k∑
i=1,ri+16=ri+1

(ri+1 − ri)
2

ri+1 − ri − 1
a2ri)

≥
k∑

i=1,ri+16=ri+1

a2ri(
n

2
√
n− 1

−
√
n− 1

2n

(ri+1 − ri)
2

ri+1 − ri − 1
). (4)

d
n2

n− 1
≥ (n+ 1− ri)

2

n− ri
≥ (ri+1 − ri)

2

ri+1 − ri − 1
≥ 0 (5)

=�ª (4) �K, l
ª (1) �K, qdª (5) �ª (1) 3 rr+1 = ri é?¿

1 ≤ i ≤ k ¤á���, ��k k = 1, = a2 = a2 = · · · = an ���, d�)�

(a1 : a2, · · · : an) = (
√
n− 1 : 1 : 1, · · · : 1) .
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